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QUESTION 1

DEFINE QLOCAL(TENNIS) 

DEFINE QLOCAL(RUGBY) 

DEFINE QALIAS(BALLS) TARGET(BALL) 

DEFINE QLOCAL(QMGB) USAGE(XMITQ) 

DEFINE QREMOTE(BALL) RNAME(BALL) RQMNAME(QMGB) 

The following commands are issued on QMGB: 

DEFINE QLOCAL(RUGBY) 

DEFINE QALIAS(BALLS) TARGET(TENNIS) 

DEFINE QLOCAL(QMGC) USAGE(XMITQ) 

DEFINE QLOCAL(TENNIS) 

DEFINE QREMOTE(BALL) RNAME(BALL) RQMNAME(QMGC) 

The following commands are issued on QMGC: 

DEFINE QREMOTE(BALLS) RNAME(BALLS) RQMNAME(QMGB) 

DEFINE QLOCAL(QMGB) USAGE(XMITQ) 

DEFINE QALIAS(BALL) TARGET(RUGBY) 

DEFINE QLOCAL(TENNIS) 

DEFINE QLOCAL(RUGBY) 

Where does the message go when it is put to BALLS on QMGC? 

A. TENNIS on QMGC 

B. TENNIS on QMGB 

C. TENNIS on QMGA 

D. TENNIS on QMGC 

Correct Answer: B 

 

 

QUESTION 2

Which two statements are true if a CHLAUTH rule has been configured as TYPE(SSLPEERMAP)? (Select two.) 
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A. SSLPEERMAP must allow all peers to connect. 

B. SSLPEERMAP must be accompanied by an SSLPEER. 

C. SSLPEERMAP record can map the TLS distinguished name of the issuer certificate. 

D. SSLCERTI is the TLS distinguished name of the matched certificate. 

Correct Answer: BC 

Reference: https://www.ibm.com/support/knowledgecenter/en/SSFKSJ_7.5.0/com.ibm.mq.ref.adm.doc/ q086630_.htm 

 

QUESTION 3

It is suspected that a poor programming technique has been used in coding an application that uses an MQ queue (Q1).
The application puts a high volume of small messages to the queue. It has been observed that when the application is
running, server CPU resource usage increases sharply. 

Which command(s) will provide the administrator with the data needed to confirm or reject the poor programming
technique? 

A. ALTER QMGR STATMQI(ON) 

B. ALTER QLOCAL(Q1) STATMQI(ON) 

C. ALTER QLOCAL(Q1) ACCTQ(QMGR) ALTER QMGR ACCTINT(10) ACCTQ(NONE) 

D. ALTER QMGR STATCHL(ON) STATQ(NONE) ALTER QLOCAL(Q1) STATQ(QMGR) 

Correct Answer: D 

 

QUESTION 4

What is one reason an administrator would have multiple queue managers on one server? 

A. It allows fewer connections. 

B. It allows for memory and CPU isolation. 

C. It allows fewer outstanding units of work. 

D. It allows for tuning log file sized differently. 

Correct Answer: A 

 

QUESTION 5

An application is putting messages in an MQ cluster but the messages are only routed to the local queue manager to
which the application is connected. 

What parameter should the administrator adjust to achieve a desired round-robin delivery f messages throughout the
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cluster? 

A. MSGDLVSQ should be set to ANY 

B. CLWLUSEQ should be set to ANY 

C. MSGDLVSQ should be set to SHARE 

D. CLWLUSEQ should be set to SHARE 

Correct Answer: B 
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